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1. (16%) Draw the truth tables and write the boolean expressions for X and Y in the following
logis ¢ircuit

u%::
%

HAND

AHD

WY

2. (15%) Briefly explain and compare the following items:
¢ Addesss bus, data bus, control bus,
» Procedual language vs non-procedual language.
+ Passing by value vs passing by variable in function calls.
+ Source code vs object code vs executable code.
+ A stack vs a queue

o ROM vs RAM
= Baich vs interactive computer execution

3. {10%) Explain what do the below codes do. What’s the output of the code execution.
Yiod main{void)

nt fun{int n};
printf{“%d\n\n™, fun(10});

int fun (int n)
{ if{n<=1)retum (n);
elseretumn n * funin-1};
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(10%) An array A [n,m] stores 5 rows by 6 columns of 2-byte integers. Ina 16-bit computer,
given that Af1, 1] is at address 1000H, what is the address for A[4, 5]7 Nofe: assuming C
janguage is used.

(10%) 100 numbers are randomly stored ir: an array A[100]. Write onie sorting prograrm, Sort(),
which can sort the array in either ascending or descending order.

To sott the array in ascending order:  Sort("A’, A);
To sort the array in descending order”  Sont(°D’, A)

(10%) Compute *ii,, ! will exocute atleast __(a)_ times for addition and B

K HFI

times for multiplication. Explain your answers.

(5%) Check which of the following are usually performed by a program loader:
(ay Check the program for system calis

(b) Relocate the code or set a base integer

(¢ Allocate space for the program 2nd data

(d) Determine the print quene length

() All of the above

(5%) A disk scheduling mechanism in an operating system causes the digk arm to sweep back
and forth acrass the disk surface servicing all requests in its path. This acheduling is called:
{a) First Come First Served(FCFS) |

(b) Shortest Seek Time First(SSTF)

{¢) Eschenbach scheme

(¢} Scan

(e} Mong of the above
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10.

{155} f(x)= a,x" +a, "o ax +ax +a,

(Fle © £y =3x" =122 4+ 5x% - 13x + 45)

FEABRRE 7(2)=70 ¢ £15)=9)TH A Horner’s Method (synthetic division) » £ %%
Bk T :

b =a,
bn-l = aﬂ‘-l o Ebn
IE'Jll-:il‘ = aﬂ—l - ""Tb

bn=;1n‘3&1

‘-'13’ EET ﬂ'” E;ﬂ#hﬂ H—;'.T'

#define N 6 '

float afN+1];

flzy=2 ¥z &-#hﬁﬁz P
float z;

r=0;

RE-RCERHK £(7) = HH AR RETBE KBTI -

(10%) BT CRE/IRBBITHIEFHEREN?
leng int j;
float value;
value=0.0; g
for(j=0; j=<100000004); j++)
value += 0.00000001;
if (value==1.0)
printf (“Perfectin’™);
else
printd (“Errorlin™);



